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http://en.wikipedia.org/wiki/Michael_Faraday
http://en.wikipedia.org/wiki/Wilhelm_Eduard_Weber
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29.8 (a) Schematic diagram of an alternator. A conducting loop rotates in a magnetic field, producing an emf, Connections
from each end of the loop to the external circuit are made by means of that end’s slip ring. The system is shown at the time when
the angle ¢¢ = wr = 90°. (b) Graph of the flux through the loop and the resulting emf between terminals a and b, along with the

corresponding positions of the loop during one complete rotation.
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http://www.youtube.com/watch?v=788yp3kLkP8
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Figure 29.18
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http://www.solarviews.com/eng/iovolcano.htm
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http://en.wikipedia.org/wiki/Joseph_Henry
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FIGURE 31-25 Sample Problem
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